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1. Find the gradient of each figure
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2. Find the gradient of each linear equation :

a.   y = -5
b.   x = 7
c.   y = 2x – 5
d.   2x – 4y + 8 = 0
e.   3y + 2x – 6 = 0 
3. Find the linear equation :
a.   passing through the origin and (2,1)
b.   passing through the origin and (2,-1)

c.   passing through the (3, 2) and having 
      gradien -3
d.   passing through the (-2, -4) and having 
      gradien 3
e.   passing through the (2,3) and (3,-1)
f.    passing through the (-2,-3) and (4,-2)
g.   passing through the (-2,0) and (0, 5)
h.   passing through the (0, 4) and (-5, 0)


4. Persamaan garis manakah yang saling sejajar :
a.   y = 2/3 x + 7

b.   2x + 3y = 12

c.   3x – 2y = 12

d.   4x – 6y = 12

5. Persamaan garis manakah yang saling tegak

lurus :

a.   y = ¾ x + 5

b.   3x + 2y = 8

c.   2x + 3y – 12 = 0

d.   6x – 44 + 2 = 0

6. a.   Given that point A (2, 3) and line  k : 

      y = 4x – 5

      Find the equation that coincident with  k
b.   Given that point B (– 1, 4) and line  p : 

      y = 4x – 5

      Find the equation that coincident with p

7. a.   Find the equation of a line passing through
      the point (3, – 2)  and having gradien ½

b.   Find the equation of a line passing through

      the point (1, – 2) and parellel to y = 3x – 1

c. Find the equation of a line passing through

(2, – 3)  and parallel to line  4x – y + 5

8. a.   Find the equation of a line passing through

      the point (2, – 4)  and having gradien 2
b.   Find the equation of a line passing through

      the point (2, – 1) and perpendicular  to 
      2y = 4x – 1

c. Find the equation of a line passing through

(2, 0)  and perpendicular to line  
2x + 3y – 6 = 0
9. Tentukan persamaan garis yang melalui titik 

(– 2, – 4)  dan sejajar dengan garis yang melalui titik  (– 5, 6) dan (4, 3)

10. Tentukan koordinat titik potong antara garis

2x – y – 3 = 0  dan  garis  3x – y + 4 = 0







